

$$\log_n^m = a \quad \log_{mn}^{mn} = b \quad n^a = m \quad \log_{n^{a+1}}^{n^{a+1}} = b \quad (1)$$

$$\frac{a+1}{a+1} = b = \frac{a+1-1}{a+1} = 1 - \frac{1}{a+1} \Rightarrow 1 < b < 2 \rightarrow [b] = 1$$

$$2 \log_9^9 + \log_9^{\sqrt{9}} = 2 \quad n=9 \quad a=? \quad (2) - (2)$$

$$2 \log_9^9 + \log_9^{\sqrt{9}} = 2$$

$$2 \log_9^9 + \log_9^3 = 2$$

$$\log_9^9 + \log_9^3 = 2$$

$$\log_9^3 = 1 \rightarrow a=3$$

$$\frac{1}{\log_9^3} + \log_9^3 = 2$$

$$\log 2 = 0.18 \quad \log 3 = 0.15 \quad \left(\log \frac{a}{r} \right) n^2 + (\log 9) m - \log^{10} = 0 \quad (3)$$

$$\frac{0.18}{0.18} \quad \frac{0.18}{0.18} \quad \frac{1.1}{1.1}$$

$$\log \frac{a}{r} = \log a - \log r \rightarrow 0.18 - 0.15 = 0.03$$

$$\log a = \log \frac{10}{r} = \log 10 - \log r = 1 - 0.15 = 0.85$$

$$\log 9 = 2 \log 3 = 0.30 \quad \log^{10} = \log^a + \log^3$$

$$0.30 + 0.15 = 0.45$$

$$0.18n^2 + 0.18m - 1.1 = 0$$

$$n^2 + 0.18m - 0.18r = 0 \rightarrow (n+1.1) (m-0.18) = 0$$

$$\left(-\frac{1.1}{1} \right) = -\frac{1.1}{0.18} \quad \frac{0.18}{0.18} = 1 \quad (1)$$

$$1 - \left(-\frac{1.1}{1} \right) = \frac{r+1.1}{r} = \frac{1.1}{r}$$

اذا كان

$$\log_r^V = 2,1$$

$$\log_a^r = 0,1$$

$$\log_{10}^{10} = ?$$

$$\log_{10}^{10} = \log_{10}^r + \log_{10}^a$$

$$\log_{10}^r = \frac{\log_a^r \rightarrow 0,1}{\log_{10}^a \rightarrow 1,9} = \frac{0,1}{1,9}$$

$$\log_{10}^a = \log_a^r + \log_a^V$$

$$\log_a^V = \frac{\log_r^V \rightarrow 2,1}{\log_{10}^r \rightarrow 1,9} = 1,1$$

$$\log_{10}^a = \frac{\log_r^a \rightarrow \frac{10}{19}}{\log_{10}^r \rightarrow 1,9} = \frac{10}{19}$$

$$\frac{0,1}{1,9} + \frac{10}{19} = \frac{10}{19}$$

$$\log_r^{10} = \log_r^V + \log_r^a$$

$$\log_r^a = 1,9 \quad \log_r^V = 1,1$$

$$\log_{10}^r + \log_{10}^a = \log_{10}^{10}$$

$$\log_{10}^r = \frac{\log_r^{10} \rightarrow \frac{10}{19}}{\log_{10}^a \rightarrow 1,9} = \frac{1}{19}$$

$$\log_{10}^{10} = \log_{10}^a + \log_{10}^r = 2,1$$

$$\log_{10}^{10} = ?$$

$$\log_{10}^r = \frac{\log_a^r \rightarrow \frac{10}{19}}{\log_{10}^a \rightarrow 1,9} = \frac{10}{19}$$

$$\log_{10}^{10} = \log_{10}^r + \log_{10}^a$$

$$\frac{10}{19} + \frac{10}{19} = \frac{20}{19}$$

$$\frac{10}{19} + \frac{1}{19} = \frac{11}{19}$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m \quad \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = ?$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \log_{\frac{1}{\lambda}} \frac{1}{\lambda}$$

$$\frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \frac{1}{\lambda} + \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m$$

$$m = \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} + \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon}$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = m - \frac{1}{\epsilon}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{(m - \frac{1}{\epsilon}) \times \epsilon}{1}$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{1}{\epsilon} \left(\frac{(m - \frac{1}{\epsilon}) \times \epsilon}{1} \right)$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{m - 1}{\epsilon}$$

$$\frac{m - 1}{\epsilon} + \frac{1}{\epsilon} = \frac{m}{\epsilon}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{m}{\epsilon}$$

$$(or f)^{m-1} = \left(\frac{1}{\lambda} \right)^{m-1}$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = ?$$

$$\frac{1}{\lambda}^{m-1} = \frac{1}{\lambda}^{m-1} \rightarrow m-1 = -m+1$$

$$m-1 = -m+1$$

$$m-1 = -m+1$$

$$(m-1)(m-1)$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda}$$

$$\frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda}$$

$$-1 \neq 0$$

$$\log_r r = a \quad \log_{\frac{1}{r}} b = \frac{r}{1+a}$$

(9)

$$\log(rb - 1) = ?$$

$$\log_{\frac{1}{r}} b = \frac{1}{r} \log_r b = \frac{r}{1+a}$$

$$\log_r r + \log_r r = \log_r r^2$$

$$\frac{r}{1+a} \log_r r = \log_r r^{\frac{r}{1+a}}$$

$$\log_{\frac{1}{r}} b \rightarrow b = r^{\frac{r}{1+a}}$$

$$\log r = \frac{-b}{rc} \rightarrow \frac{b}{c} = \frac{1}{\log r} \rightarrow \frac{b}{c} = \log_{1/r} 10 \quad (10)$$

$$\frac{b+c}{r} = a \rightarrow b+c = ra \rightarrow b = c - ra \rightarrow \frac{b}{c} = 1 - \frac{ra}{c}$$

$$\frac{-ra}{c} = \log_{1/r} \frac{a}{n} \rightarrow \frac{a}{-c} = \log_{\frac{a}{n}} r^{ra} \rightarrow \frac{c}{a} \log_{\frac{a}{n}} r^{ra}$$

$$\frac{c}{a} = \frac{1}{n} \times (\log_r a - r) \rightarrow \left(r - \frac{1}{n}\right)^{\frac{1}{n}} \log_r a$$

$$= \frac{a - \frac{1}{n}}{n - \frac{1}{n}} = \frac{a - \frac{1}{n}}{a - \frac{1}{n}} = 1$$